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In ninth line from the bottom it should read ¢; instead of (5,5(")

The [eearsymbol should be at the end of the equivalence

In Example 3.4.7(i) it should be N instead of N* and there is minus sign missing
in the solution formula, i.e. it should read

n—1

x[tom) = — Z NiJrlaZ(to—)(sg).
=0

see also Vinicius A. Armentano ”The pencil (sE-A) and controllability-observability
for generalized linear systems: A geometric approach”, Siam J. Control and Opti-
mization 24(4), p. 616-638

In the fifth line from below it should be &y, ooy = (AT + f)[1y,00) inStead of py o) =
(Ax)[to,oo)'

The name of Lemma 4.2.3 should read “Invertibility of [V, W] and [EV, AW]”, fur-
thermore the proof is not complete. The complete proof reads as:

Invertibility and existence of T follows from Lemma 4.2.2(ii). To show
invertibility of [E'V, AW] it is first shown that EV and AW each have full
column rank. Therefore, consider z € R™ and y € R®™™ with EVz =0
and AWy = 0. Invoking Lemma 4.2.2(ii) yields Vo € V* Nker E = {0}
and Wy € W* Nker A = {0}. Since V and W have full column rank
it follows that © = 0 and y = 0, hence EV and AW have full rank.
It remains to show that EV* N AW* = {0}. Therefore, consider z €
EV* N AW?*. Then there exists v € V* and w € W* with Ev = x = Aw,
in particular v € E~1(AW*) = W*. Hence v € V*NW* = {0} and z = 0
follows.

several Js are missing, it should read:

hence, invoking Corollary 2.3.5,

K K
(0(t4) = o(t=)d + Y ardy ™ = Jarsy”,
k=0 k=0

or
K+1

0=">" b6,
k=0

where byy1 = an, by = ag—1 — Jag, k = N,...,1, and by = v(t+) —
v(t—) — Jao.
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in the third and fourth equation it should read ngy instead of n1, and, in line seven,
extend ’since N is nilpotent’ to “since N € R™2*"2 n, € N, is nilpotent”, finally, in
the fifth equation, replace S by S~1!, i.e. it should read

Repeating this process yields, since N € R"2*"2 n,y € N, is nilpotent,

no—1

0= N" ([t = wlt] = Y N (w(tit) - w(ti-))sf
k=0

or
no—1

wlt] = Y N (w(tit) —w(ti-))or.
k=0

Assumption (A1) and Theorem 4.2.8 yield

(A1)

Thm. 4.2.8
02 B, (1 —1)a(ti—) ™™=

Ep((z(ti—) — z(ti+))

S ()

in the second last line it should read “51%)” instead of ‘6]’

in the first line it should read “5153“)” instead of ‘52;“1’

in Prop. 5.2.4 the first ‘impulse-observable’ should read “jump-observable”, further-
more in (5.2.3) it should read “x[tg] = 0” instead of ‘w[ty] = 0’

just before Theorem 5.3.12 it should read “characterizations” instead of “character-
ization”

in the sixth line of Remark 5.3.14 it should read x5 instead of w and in the last line
of this page it should read x4 instead of w



